




IMPORTANT:

PLEASE READ INSTRUCTIONS BEFORE STARTING THE ASSEMBLY

* Use of power tool to assemble this
product will invalidate any claim and
damage this product, making it unsafe !!

* Please assemble on a clean soft
surface to avoid damage.

!

Tools Required

(Not included)

+
0:30 h

1

2

3

4
5

6
7

8

9

10
11

12

Thank you for purchasing this quality product. Be sure to check all packing
material carefully for small parts which may have come loose inside the

carton during shipment. Separate, identify and count all parts and hardware.
Compare with the parts list to be sure that all parts are included.

"DO NOT TIGHTEN SCREWS AND BOLTS UNTIL COMPLETELY ASSEMBLED"

2743 5 DRAWERS CHEST



Part List - 2743 5 DRAWERS CHEST

1

2

2

THE LEGS ARE INSIDE THE DRAWERS.
PLEASE TAKE THEM  OUT AND FOLLOW
THE INSTALLATIONS.



Qty

1 9/16" Screw (3.5 x 40mm)
PN 02D

25/32" Screw (3.5 x 20mm)
PN

Qty

02E

1" Screw (3.5 x 25mm)

Qty

12A

5/8" Screw (3,5 x 16mm)

Qty

02B

*Actual size of  screws and bolts, for measurements checking.

Identifying the Hardware/part list - Identify the hardware using the illustrations below.

Support

Qty

02C

Qty

Nylon Strap
PN 01F

Qty

Nylon Strap
PN 02G



02

01

1

Qty

12A
1" Screw (3.5 x 25mm)

A

PLEASE ASSEMBLE ON THE GROUND, 
BUT FIRST PLACE SOME PROTECTIVE 
MATERIAL, SUCH AS A CARDBOARD 
BOX OR A RUG, ON THE FLOOR TO 
PREVENT ANY DAMAGE.

Qty

1 9/16" Screw (3.5 x 40mm)
PN 02D

25/32" Screw (3.5 x 20mm)
PN

Qty

02E

1" Screw (3.5 x 25mm)

Qty

12A

5/8" Screw (3 x 16mm)

Qty

02B

Support

Qty

02C

Qty

Nylon Strap
PN 01F

Qty

Nylon Strap
PN 02G

A

A

2

2

A

A

A
A

A

A

A
A

A

A

5/8" Screw (3,5 x 16mm)

Qty

02B

Support

Qty

02C

B
C

C

B

B
C

Important Instructions for Assembling the Legs of the 
Drawer Chest

To avoid damage to the legs during assembly and handling, please follow these guidelines:
Attachment of the Legs: Ensure that each leg is securely attached according to the 
provided instructions. Check that all screws are tightly fastened to ensure the legs' stability.



03

Qty

1 9/16" Screw (3.5 x 40mm)
PN 02G

25/32" Screw (3.5 x 20mm)
PN

Qty

02H

Qty

Nylon Strap
PN 01I

Qty

Nylon Strap
PN 01J

1°

2°

3°

By following these steps, you help ensure that the legs remain secure and reduce 
the risk of damage during assembly and movement.

Important Instructions for Assembling the Legs of the Drawer Chest

Handling and Moving: When moving the drawer chest, avoid lifting it by the legs or applying 
excessive pressure on them. Instead, lift the product by the main frame or base to prevent the 
legs from bending or breaking under the weight.
Lifting with Two People: For added safety and to protect the furniture, it is recommended 
that two people lift the drawer chest and place it in the correct position. This helps to prevent d
amage to the legs and reduces the risk of accidents.
Avoid Dragging on the Floor: When repositioning the drawer chest, avoid dragging it across 
the floor, as this can cause damage or even break the legs. Always lift the furniture to move it, 
thereby protecting both the legs and the floor.
Stability Check: After assembly, place the drawer chest in an upright position and check if it 
is stable. If you notice any wobbling or looseness, reinforce the leg attachments before 
positioning the chest in its final location.
By following these steps, you help ensure that the legs remain secure and reduce the risk of 
damage during assembly and movement.

Lifting with Two People: For added safety 
and to protect the furniture, it is recommended 
that two people lift the drawer chest and place 
it in the correct position. This helps to prevent 
damage to the legs and reduces the risk of 
accidents.

Avoid Dragging on the Floor: When repositioning the 
drawer chest, avoid dragging it across the floor, as this 
can cause damage or even break the legs. 
Always lift the furniture to move it, thereby protecting 
both the legs and the floor.

Handling and Moving: When moving the drawer chest, 
avoid lifting it by the legs or applying excessive pressure 
on them. Instead, lift the product by the main frame or 
base to prevent the legs from bending or breaking 
under the weight.



04

Qty

1 9/16" Screw (3.5 x 40mm)
PN 02D

25/32" Screw (3.5 x 20mm)
PN

Qty

02E

Qty

Nylon Strap
PN 01F

Qty

Nylon Strap
PN 02G

FURNITURE ANTI-TIPPING RESTRAINT KIT

F

W
A

L
L

B
O

A
R

D
W

A
L

L
B

O
A

R
D

Install both parts  

Tighten them together 
using the safety strap

Install against the furniture

Anchors are not included, 
choose best type based on your wall

install on the wall 

EG

G

E

D

D

0000

0000

JULY / 2
024

5 DRAWERS DRESSER

2743

JULY / 2
024

Qty

1 9/16" Screw (3.5 x 40mm)
PN 02D

25/32" Screw (3.5 x 20mm)
PN

Qty

02E

1" Screw (3.5 x 25mm)

Qty

12A

5/8" Screw (3 x 16mm)

Qty

02B

Support

Qty

02C

Qty

Nylon Strap
PN 01F

Qty

Nylon Strap
PN 02G


	Página 1
	Página 2
	Página 3
	Página 4
	Página 5
	Página 6
	Página 7
	Página 8

